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QUESTION 1

One of the requirements during an Open Replicator implementation is to provide all available resources to Open
Replicator. How should the Pace and Ceiling values be configured? 

A. Pace and Ceiling should be left at the default. 

B. Pace should be set to 0 and Ceiling set to 100. 

C. Pace should be set to 9 and Ceiling set to 0. 

D. Pace should be set to 9 and Ceiling set to NONE. 

Correct Answer: B 

 

QUESTION 2

Refer to the exhibit. 

You are in the process of implementing Symmetrix Management Console in the configuration shown in the 

exhibit Server A can access Server B over an IP network, Server B has access to the Symmetrix array 

over the SAN. 

Which licenses key(s) should you implement on Server A? 

A. SMC key only 

B. Base, SMC, and SYMAPI server keys 

C. Base and SYMAPI server keys 

D. Base and SMC keys 
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Correct Answer: A 

 

QUESTION 3

Which of these protection types offers the best protection? 

A. RAID 6 

B. RAID 5 (7+1) 

C. RAID 1 

D. RAID 5 (3+1) 

Correct Answer: D 

 

QUESTION 4

Refer to the Exhibit. 

The SAN zones (Zones 3 and 4) shown in the exhibit have been created during an Open Replicator 

implementation. The control devices in the Symmetix array are mapped to all four front-end ports. Which 

Open Replicator operations can be performed? 
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A. No operations 

B. Hot Push and Hot Pull only 

C. All operations 

D. Cold Push and Cold Pull only 

Correct Answer: D 

 

QUESTION 5

How does Enginuity Consistency Assist (ECA) differ from power path? 

A. ECA supports TimeFinder/Clone only; power path supports TimeFinder/Clone and TimeFinder/Snap. 

B. ECA cannot support I/O for multiple hosts, but power path can. 

C. ECA supports I/O at the Symmetix level power path support I/O at the host level 

D. ECA supports I/O at the host level power path support I/O at the Symmetric level 

Correct Answer: C 
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